Write the following set in builder notation form
{7.12.17,22, 27,32, 37,42,47,52)

Oa) (#lx= 67 + 2, 5, an integer between and 10 inclusive)
Op) (alx= 5n+2;&anﬁxtegerhetweenlandlﬂinchsive}
Oc) {Alx= 9n+2;n,anintegerhetweenl and 10 inclusive)
Op) (xizx=10m+ 2;m, aninteger between 1 and 10 inclusive)
Op) (Klzx=4n+ Z;n, an integer between 1 and 10 inclusive)

List the elements of the given set in roster notation,

{xl?- x=9, zx aninteger}

On) {-2}
Opy{-22}
Oc) {-2 16}
Op) {2}
% List all subsets of the set

1813}

On)@. {8}, {1}, {3}. {81}, {3, 3}, {13}

OB @. {8} {1}. {3}. (8,1}, {8,3}, {1.3], {8 1,3}

Oc) {8} {1}, {3}, {81}, {3, 3}, {1.3}

OD){S- lv3}s{8:3vl}s {!v8:3}u{ls18}3{3’8o1}3 {33 108} : = —RaR=—

4,
Find the smallest possible set (that is, the set with the least number of eiemﬂﬂts)hat—coatamsmegwm
_____Sets as subsets

16,1.3}, {a,¢}

Oa) {61, 3}
Os) {6 1,3, 4,0}
Oc) {104, ¢}
Op) {a. ¢}

il

5.
Find the smallest possible set (that Is, the set with the Jeast number of elements) that contains the given
sets as subsets,

{ Volswagen, G, Missan }, { Porche, Volvs, Chrysler |




O { Valkswagen, GM, Nissan, Porche, Volwg, Chrysler}
oF, { Parche, Vaolyg, Chrysler}

o [ Volkswagen, g Nissen |

Opy@

6.
Use Venn diagrams to ilustrate the statement,

AcAvug




Og)




Op)
v
A
‘EB
TN 0p
& Determine whether the given pair of sets is disjoint.
{2345} {4567}
Oa) pisjoint
OB) Not disjoint
9.
let A= {2o4-6:8] and B= {2.3.5.7,9}, Compute ne4)
Oa 4 '
OB) 14
Oogs
Oo) 17
Ops
Op1

10. Inga Survey of 122 consumers conducted in a shopping mall, 82 cons
of a certain Product, 71 buy brand B, and 46 buy both brands, How

11,

survey buy only brand A?

A) 35 consumers
OB) 17 consumers
O0©) 87 consumers

D) 36 consumers

E) 51 consumers
OF) 56 consumers

umers indicated that
many consumers participating in the

they buy brand A



*

In a poll conducted among 180 active Investors, it was found that 100 use discount brokers, 122 use fuy))-
service brokers, and 54 yse both discount and full-service brokers, How many investors use only discount
brokers?

Qa) 68
OB)ss
Q0 a6
Ob) 36
OF) 56
12. On a certain day, the Wilton County Jail had 183 prisoners., Of these, 127 were accused of felonles, and 117
were accused of misdemeanors. How many prisoners were accused of both a felony and a misdemeanor?
OA) 89 prisoners
OB) 61 prisoners
Q¢ 64 prisoners
OD) 73 prisoners
CE) 68 prisoners
OF) 87 prisaners

13.
If

n(A) =12
#AnB)=8
» and
n(AvB)=13
» what is

»(B)
?

®) A) 4 al m. LIt %
OB) 16

O0) 14

Op)2

0] 57

Or 12

14,

Let 4 and B pe subsets of universal set ¥ and suppose #({1) = 210 n(4) = 100 »(B)= 60 ang
B(ANB) = 30

Compute #{(4° N B)

Oa) 8o
OBs) 100
0090
ODb) 200




OE) 150
OF) 180

15.

Let 4 and B be subsets of a universal set £/ ang suppose #(U) = 130 n(4) = 100, »(B) = 70 ang
n(AnB)=50

Compute #(4°)

On) 40
OBy 9o
Oo30
Ob) 20
OF) 170
CP 10

moming edition and 409 S
Sunday edition?

CA) 500 people
OB) 700 people
0O0) 600 people
OD) 300 people
OE) 900 people
OF) 100 people

t groups of passengers, How many different kinds of Passes must be possible?
OA4) 9 possible passes

OB) 18 possible passes
OC) 15 possible passes
OD) 6 possible passes

OF) 12 possible passes
OF) 11 possible passes

On) 48
OB) 28
O 20
Opb) 16
OE) 40

response Is given to each question?
OaA) 115 different ways

OB) 81 different ways

O0) 108 different ways

OD) 136 different ways

OF) 82 different ways

OF) 6 different ways




must be nonzero?
QA) 234,000 numbers
O B) 307,000 numbers
O©) 99,000 numbers
OD) 6,000 numbers
OE) 414,000 numbers
OF) 432,000 numbers

OB) 92; 1,439
Cc) 64; 729
ODb) 66; 225
OE) 15; 1,316
OF) 72; 536

22. A Social Security numb
Oa) 10,000,000
OB) 5040
Qo 720
OD) 9,999,999
OE) 6,000,000

23. In a survey conducted by a union, members were asked to rate the importance of the following Issues: (1)
Job security, (2) Increased fringe benefits, and (3) improved working conditions. Sjx different responses were
allowed for each Issue. Among completed surveys, how many different responses to this survey were
possible?

Oa) 192
OB) 205
O0) 216
Op) 221
Op) 198

24. The 2010 BMW 3351 Coupe Is offered with a choice of 9 exterior colors
colors, and 4 trims, How many combinations invalving
Oan) 180

OB) 18
00 29
Op) 117

er has seven digits, How many Sodlal Security numbers are possible?

(7 metaliic and 2 standard), 5 interior
color and trim are available for the model?

25. How many International direct-dialing numbers

(the first digit of which must be nonzero) and a
nonzero)?

On) 648,000,000,000
Op) 486,000,000,000
O.) 810,000,000,000
Op) 891,000,000,000
Op) 1,215,000,000,000

are possible If each number consists of a four-digit area code
n elght-digit telephone number (the first digit must be




